5 A2 59 RAT 105504 §
Semoldth gtk F9) 54

xg, S5do] Eold ZolE yem= L & |, yE x
of Tk Ao 2 Yehd A-2?
® y=5x @ y=10x ® y=0.1x

zg






ekl

R

_ﬁi’y

Ty=5x+39x&

SH
=

2}

o|J
XS






T8 f(x) = —2x+5, g(x) =3x—1 9 st f(1) =a, g(5) =b
A, a+b 9 S Fotoi=t



®y=-x+1

@ x+y=5

®y=1

® y=x*+2

=4

@ xy



Q7 3 9 @ 11 ® 13

@D 5



8.  xy7b& AAY ), QALHA] x -2y =4 o] T} AR P
AREH-S otol et

R A






10. o2 182 A8ty =ax+ b 9 Aoty 42 Fy=bx+a

o] Jejme?
yl\
N\
y=azr+b
0 NS 7
@®

@
y'
ol z [0) A
@
Y
§<\\j;?



11. =4 (3,2), (5, k) 2] %21 Aol agjmrt = A (4,6),(8,10) =
]urL Jejmol A= PP of, k o FhS LAY

D 2 @ 3 3 4 @ 5 ® 1



2
®y==
X

@ y=2(x-3)

O y=-2x+1

® 2x+3y=4






otx o2 =9

:—%x—i—Gﬁﬂ A

x+13y

1

2
of ol

sholat,

=X

=B



2 — e _
15, 08 Fy= -2 (20+3) TeZL} A2 B Do)z

®y=-x+3 @yzé(x+2)

1 1
®y=;3(4x—3) @yz—gx—S
® y==zx

3



16. f(x) =2x+a°lA £(5) =8 W, f(-1) + £(1) ] FH2?

D -1 @ -2 3 -3 @ —4 3 -5



y= §x+694 i f1of QA

L. o
= A2



sto] f(1) =14

ax—-3° H

® 6 B 7 @ 8 ®B 9

D 5



19.




@ y=-2 ® x=0

O x=-2

@ x=-3



